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· Course Overview:

· 1- Four basic issues:

· what is income. We’re not covering wealth or transfer taxes when you die, only with income in this class.

· when is it income. When does it have to be included. The majority of disputes are about this b/c you want to push back when you pay the tax so you can make money with your money. Time value of money.

· to whom is it income

· what adjustments. Some are based on basic considerations on ability to pay and some are based on policy (home owners mortgage deduction)

· 2- Two additional objectives:

· get a sense of how tax code affects and shapes public policy and behavior

· Statutes and regulations rule the world! So we will be getting the interactions between statutes and regulations, judiciary law and practice. Regulations interpret the statutes (secretary of treasury promotes those. Then cases interpret the regulations.

· I-Introduction (p1-36)

· II.
Some characteristics of income 

· A.
Noncash benefits 

· 1-  Food and lodging

· 2- Other fringe benefits 

· 3.
Exchanges of services 

· B.
Windfalls and gifts

· 1.
Punitive damages 

· 2.
Gifts 

· 3.
Inter vivos transfers of unrealized gain by gift.

· 4.
Transfers at death 

· 5.
Gifts of divided interests.

· C.
Recovery of capital

· 1.
Introduction to capital gains 

· 2.
The basic concept 

· 3.
Annuities and pensions 

· 4.
Gains and losses from gambling

· 5.
Recovery of loss 

· D.
Recoveries for personal and business injuries (Raytheon Production Corp. v. Commissioner 

· E.
Transactions involving loans and discharge from indebtedness

· 1.
Loan proceeds 

· 2.
True discharge of indebtedness 

· 3.
Relief provision 

· 4.
Debt discharge as part of an exchange 

· 5.
Transfer of property subject to debt 

· F.
Illegal income.

· III.
Problems of timing

· A.
Gains and losses from investments in property

· 1.
The realization requirement 

· 2.
Express nonrecognition provisions 

· 3.
Boot and basis 

· B.
Recognition of losses 

· C.
Annual accounting and its consequences

· 1.
The use of hindsight 

· 2.
Claim of right 

· 3.
The tax benefit rule 

· D.
Constructive receipt and related doctrines

· 1.
Introduction to accounting methods 

· 2.
Constructive receipt and economic benefit 

· 3.
Deferred compensation 

· 4. 
Qualified employee plans 

· 5.
Stock options, restricted property, and other employee compensation 

· IV.
Income splitting and the taxation of the family

· A.
Income from services 

· B.
Transfers of property and income from property 

· C.
Transfers incident to marriage 

· D.
Alimony, child support, and property settlements

· V.
Personal deductions

· A.
Introduction 

· B.
Casualty losses 

· VI.
Deductions for mixed business and personal expenses 

· A.
Travel and entertainment

· B.
Business lunches 

· C.
Childcare expenses 

· D.
Commuting and moving expenses 

· E.
Legal expenses 

· VII.
Deductions for the cost of earning income

· A.
Distinguishing current expenses from capital expenditures 

· B.
Repair and maintenance expenses 

· C.
Depreciation 
· Class notes:

· I- Introduction: income tax is the single most significant source of income for the US: For 2003

· Personal income tax: 49% 1 trillion

· Payroll: 37%

· Corporate income tax: 10%

· Estate and gift tax: 1%

· did not use to be the case. Tariffs on imported goods were the source of income. During civil war there was some sort of tax. Struck down later. A tax on property from the federal government is not allowed constitutionally because income is property, so they strike it down. So later in 1913 there is an amendment (16) giving congress the power to lay taxes regardless of census  etc. It was modest. In WWI it increased a  bit but then they lowered it and by 1941 only 7% of Americans pay income tax. By 1945 it becomes 67% and highest rate was 94%!!! They needed to pay for the war. It showed that taxes were an excellent way of raising federal revenue and we have never gone back to anything else. 

· We have a progressive income tax. It plays a role in a lot of things. Higher income gets taxed at a higher rate. As you go up the ladder, the marginal rate increases: the tax paid on the last dollar earned.  The marginal rate is always higher than the overall rate you pay. Your first 7K always gets taxed at 10% and as you earn more money you pay a higher rate on the more money you earn.

· Cliff effects: just what I thought! That earning one more dollar would kick you up to the next rate. Not true. It only applies to the marginal rate but your overall does not kick up, it may just increase slightly. Thank God!

· Basic Goals of any tax system:

· Fund the government

· Fairness: Two concepts:

· Horizontal equity: like tax payers should be treated alike, similarly situated people should be taxed the same. 

· Vertical equity: progressivity. So if it provides more benefits to people in higher incomes than it provides to people at the bottom, then it’s not equitable. Sometimes deductions help more the people at the top than those at the bottom because it’s worth more to them.

· Economic Rationality: we don’t want people to do things they would not otherwise be doing just based solely on the tax code. Economists call it economic distortions and deadweight loss. Not productive. A wants house clean and is willing to pay $100. B can clean house but wants 80$ to spend. Either way, there is a $20 gain to society. If he pays 85, b gets $5 benefit, A gets 15 benefit. BUT, if there is a 25% income tax, B no longer wants to do it because even at $100, he would only retain 75$ and he needs 80, so there’s a total societal loss of that benefit and therefore a distortion because he is not engaging in behavior he would otherwise engage in. 

· Administrability: IRS needs to be able to administer it, albeit, arbitrarily, but it gives the system predictability so people can plan.

· II.
Some characteristics of income (pp. 37–38; §61; Reg. §1.61–1(a), Reg. §1.61–2(a)(1), (d)(1)).

· Income is a flow! There is no income, there is wealth in people’s hands, but income is just shorthand for what people will have at a period in time. Annual Accounting principle: measure income over a year. for almost all individual tax payers is from Jan to Jan, but for corporations it has other dates.

· Examples of what makes something income: 

· Cash: quintessential form of income.

· Checks: yes, income. 

· Electronic deposit

· Electronic deposit transferred at 11pm, new year’s eve, you have no checks and no atm card. Yes, you have it and you can use it later

· Found money in the street. No one claims it. Legally yours. You cannot treat the person who finds 10K better than the person who works for 10 months to earn the 10K? Nope. That would be horizontally unfair.

· Basket of gifts given to celebrities for hosting Oscar ceremonies? Yes, because it is placed there to compensate the person for hosting the show, even if not cash. Since income does not have to be cash or cash equivalent, and it can be any item of value, then it is considered income. Gifts, however, which are motivated by detached and disinterested generosity, it is not included in income. Gifts are not included in income because of administrative difficulties! Think about Christmas. So we deny a deduction to the giver and don’t take the gift as income. Comp rides, tickets, lodging, etc. however, are not considered income in the award ceremony context because you’re getting reimbursed for your expenses as if you were a lawyer and flew to LA to do a case there on behalf of your firm.

· Problem of Alice and Unitek on page 40. Yes it would count as income if her company paid for her rent or food because it would encourage setting up a system where similarly situated people who make the same amount of money would be taxed differently if one has the ability to set up the agreement with the company to pay for rent. This would probably be conceived as a fringe benefit which is taxable.

· Problem of Alice getting a policy for 50K in 2043 either for her or her heirs. The company paid 10K. Should she be taxed and when? Yes, the 10k is income unless it is a 401 plan where you’re not taxed when it goes in but only when it goes out. In 2043 you tax her for 40K because you already  taxed her for 10K in 2008 so her actual gain was only 40K. The 10K is her BASIS: the amount a tax payer has invested in an asset in already taxed $. Gain=amount realized- basis. If Vanguard goes bankrupt in 2020 does she get the 50K or the 20K she has earned so far? None! For tax purposes, Loss= Basis-amount realized. Since she got 0$, and her basis was 10K, then her total loss is only 10K because that’s what she was actually taxed for.

· So if she would be taxed for 50K under either scenario of taxing in 2008 or 2043, who cares when she’s taxed? She does because of the time-value of money. Since future value is present value(1+r) to the t. Assuming a 10% rate of return of the US stock market, she would have 60K or so, and since her tax is 15K for either case, she would be left with 44K that she would not have if she’s taxed 3000 now on the 10K.

· So income is an accession to wealth and it need not be in the form of cash. We focus on the tangible. We tend to wait for observable transactions. This increases practicality and administrability.

A. Noncash benefits 

· 1.  Food and lodging: Benaglia and Royal Hawaiian hotel case. (1933 before section 119 was there in the code) They get a suite of rooms and free meals at the hotel for managing it and does not report it as income. The IRS thinks it should be income of about 7500 because that what it costs annually to live at the Royal Hawaiian and food (fair market value). Ct says, no. He is there for the convenience of his employer and needed for the job b/c he needs to be there on duty 24/7. Benaglia says the cost of alternative arrangements is about 3500. That was the value to them. So the accession to wealth should be the subjective value to the Benaglias. But since the parties have an interest, the subjective value is not a good measurement because he will always underreport so it’s not administratively efficient.  Dissent points out that he was managing two properties and was only staying on one and was also absent for five months from Hawaii so he really could not have been that relevant or needed. But the ct  has a problem with forced consumption (who wants to stay for 2 years at the same hotel and eats 2 years at the same hotel?). So the problem is that they cannot take market value because he does not have an accession to wealth of that amount since he doesn’t value it at that, but we can also not value it at his subjective valuation. Somewhere in between would be ok. But congress codifies the Benaglia result in section 119 and adopts the standard of employer’s convenience IF required as part of the job OR the meals are furnished by the employer in the business premises of the employer. As in it needs to be NECESSITATED BY JOB DUTIES. ( A looser definition of necessary, of course).  

So, we end up with some rules that try to balance the market value with the value to the employee and we end up with the convenience thing.  

Handout 1 problems. Go read it.

Frequent flyer miles: not income. Too hard to administer. It should be that miles earned on business trips should go to the firm who paid for the trip because it is accounted as a discount on the fare. However, it is hard to keep track of how much came from business and how much was personal. So new regulations say that the IRS will not consider it income for reporting purposes. BUT they are not conceding that it is not income because it is. Since there is a problem of valuation (how much is a mile worth or even a ticket) they cannot administer it. Also the political problem of having the inertia of not having done anything about it for 10 years and so now people expect it and politically it would not be enforceable. 

· 2.
Other fringe benefits: Section 132. 

1- No additional cost service: if offered to all employees and within the company he works for not other companies owned by the same company. Needs to be something that is sold to customers and it needs to be that employer does not incur any additional cost.

2- Qualified employee discount. But no more than cost to employer. This one and number one have the non-discrimination clause.

3- Working condition fringe: magazines, etc.

4- De minimis fringe

5- Qualified transportation fringe and parking stuff

6- Qualified moving expense reimbursement

7- Qualified retirement planning

8- Qualified military base realignment and closure fringe.

· 125 allows employer to offer either the benefit or the cash,  but the benefit is something that is already excludable as a fringe benefit.

· Problem 4 and 5: Discount cannot be something that goes below the profit percentage of the company. So if discount is something that will make the company lose money, then it is not considered a fringe that is excludable and you will pay taxes. BUT no cliff effects. Only the marginal discount above what makes it go over the cost. So, if discount is 100$ and the $50 is what the profit is, then only $50 is taxable. 

· Problem 6:  Cannot discriminate under 132(j). Only applies to qualified employee discount and no additional cost service fringe benefits. And it’s a toggle either off or on. So, if it does not pass the discrimination clause, it is not excludable. So if the discount to executives is 20% and everyone else is 15%, the ENTIRE 20% is not excludable!!! So no marginal anything.

· However, if it discriminates against the higher compensated employee, and gives more discount to lower paid employees, the language of the statute seems to indicate that it would be ok. 

· Problem 7: it’s facilitating overtime and therefore excluded. De minimis under 132(e).

· Problem 9: Parking to everyone or $75 in cash. Doctrine of constructive receipt. When the taxpayer has an opportunity of taking cash and decides not to but to take the actual benefit (parking). In that case, we tax the $75 benefit because it is valued at that. HOWEVER, qualified parking is exempted! Because of 132(f)(4). Not just qualified parking but anything in which employees have a choice. Read it.

· Problem 10: not includable. Discrimination is allowed with respect to qualified parking benefits.

· Problem 11: Under 132(d) working condition fringe allows you to exclude anything you get  from employer that if you paid for it , you’d be allowed to deduct from your taxes under sections 162 and 167: depreciation and trade or business expenses (ordinary and necessary) in connection with business. Not excludable in this problem unless he can make an argument that he doesn’t enjoy golf and only joined the country club because  he needed it to take out clients. However, that’s precisely what the reform tried to prevent.

· Problem 12: On site gym during working hours. Under 132(j)(4) allows to exclude this as long as it is on premises, operated by employer, and substantially used by employees, spouses and dependent children.

· Other fringe benefits:

· 1- Life insurance cost of coverage under 50K. Excludable. Since it is valueless to single people, so it is in a sense forced consumption. Section 75.

· 2- Health Insurance: excludable as income. 

· 3- Dependent care assistance up to 5000$ a year provided by employer to employee is excludable. Section 129.

· 4- Section 125 plans: Cafeteria plans or flexible benefits plans. Array of benefits available to you if you take the benefits. If you take the money, you will be taxed. Exception to the doctrine of constructive receipt with respect to certain specified benefits. Not everything can be ran through 125 only:

· unreimbursed medical expenses, 

· dependent care assistance

· life insurance in excess of the 50,000. If ran through the employer only.

· Health insurance premiums.

· Subject to use it or lose it rule! This section came about because of envy among employees that one was getting a fringe benefit (like dependent care) and other could not use it so the pot of cash available is reduced. In this case, no one is worse off. 

· 3.
Exchanges of services: Barters are considered income. A lawyer providing legal services to a painter in exchange for painting is income. Economic efficiency problems: currency makes more sense because it facilitates exchanges. If we allowed excludability, it would provide an incentive for  people to start arranging their lives around barter and having “Useful friends”. Also, it would be a way to circumvent the taxation so we don’t want to exclude it from income. Valuation is a problem, but if one of the services clearly has a  price, they value it at that since you’re assumed to be dealing at arms length. Problem is if one is significantly higher than the other. In that case, there’s a chance that part of it is barter and part of it is a gift if the service was provided to a friend, for instance.

· B.
Windfalls and gifts

· 1.
Punitive damages: Glenshaw Glass and William Goldman Theaters both sue competitors for antitrust issues and they both get treble damages in punitives. Issue is, whether the punitive damages are considered income. Both companies report as income the compensatory damages received but not the punitive damages. Ct says they are taxable. BUT personal injury damages are not taxable. Punitive damages create an incentive for people to sue in the first place, that’s why they are there. But should they be taxable? Obviously compensatory damages are income because they are there to cover a loss of profit, so the moment they get the money back, they have the profits back and therefore income. REPLACEMENT RULE PRINCIPLE. (Raytheon case). If a tax payer recovers something, insurance, damages, etc. the first question is 
“what does that money replace?” if it is something that would be taxable, you tax the recovery as well. Chief Warren says punitive damages are also taxable because the statute define income as: “gains of profits and income derived from any source whatever”. Is it a benefit to the taxpayer?. Is it an “undeniable accession to wealth that has been clearly realized and over which the taxpayer has complete dominion” THIS IS THE DEFINITION OF INCOME THAT HAS BEEN USED IN MANY CASES BY SCOTUS AND HE SEEMS TO BE STRESSING IT AS “THE DEFINITION”.  This is a windfall and it would be unfair not to tax a windfall if you tax earned income. Personal injury money is merely reimbursing you for the money you paid the doctor. The punitive is not taxable either because it is “forced consumption?” since you were forced to give up your enjoyment or health or whatever.
· 2.
Gifts : Donor     and      recipient.  Gifts are an accession to wealth, so they should be taxed. And therefore the donor should have a deduction because he has had a dis-enrichment.  A gift does not increase the tax base, it’s merely a transaction that transfers purchasing power from one person to another.  If we taxed intangible wealth, then the joy of giving would be taxed and we cannot do that. Also, if we see the gift as a personal consumption, we cannot deduct it. So, the tax code, 102(a) says that the donor cannot deduct and donee does not get taxed.  

· This scheme stems the evasion of progressivity so that the donors with higher tax brackets don’t just shift their wealth to their kids who are in a lower income bracket to pay less taxes, so they would give it as gifts. 

· Other issues: administrability, valuation problems, and tax payer behavior: more people would report the deduction of the gift but not enough reporting the income, so in order to keep the consistency of the tax base, we do it as we do it: gifts are not taxable. 

· Another problem is distinguishing gifts from other types of transfers. If it’s a gift as compensation, then it is income. The standard is Duberstein: The guy who owns the company and his client or vendor gave him a Cadillac when his referrals pay off. IN Stanton the controller of a church serves for 25 years and  ends a gratuity of 25K with a resolution of how much they loved him. So, is that a gift? If it is, then it’s not taxable. If it’s not, then, it’s taxable. THE STANDARD IS : DETACHED AND DISINTERESTED GENEROSITY ON THE DONOR’S INTENT. That’s what matters and at the time of the transfer. How do we figure that out? All facts and circumstances. So, they basically punt to the trial courts because that is a lot of discretion for trial courts and it never gets appealed because appellate courts cannot do factual determinations. So, since the Cadillac donor had an interest in getting more referrals and had gotten referrals before anyway, it was not disinterested. Stanton was an employee so it’s compensation for his past services. If he were a current employee then it’s even more taxable because under section (c) any gifts from an employer to an employee are taxable. EXCEPT if the name of the company is prominently emblazoned. But the value is $4!!! So the bat from Nektar might be taxable!!! And nectar would be reporting it under their W2 because they are jointly and severably liable for evasion of this type of thing. Employee achievement awards are excludable. Plaques and stuff like that not considered income, but jackets and consumer products are!!!
· Also, a donor can deduct up to 25$ per year, per individual, if you are a business person and the expense is business motivated (so gifts to clients, or whatever). So since this is here, it makes it more likely the deductions will be limited to 25Dollars, even if it does not match the definition of Duberstein since it is not disinterested. Some things, like taking them out to the baseball game and create goodwill is a necessary and proper business expense. 
· Tips and transfer payments: So if you give a nice tip and you know you will never be back at the restaurant, so you’re generous and disinterested, it’s still compensation even if you’re not legally mandated to do it, and therefore taxable. Hard thing is enforceability b/c tips are paid in cash. So Service has put withholding obligations on the restaurants. So they get withheld on their forecasted tips! And they get to then reduce or whatever in their income tax return. 
· Government transfer payments: 
· TANF

· Medicaid and medical: health insurance for the indigent

· Medicare: health insurance for the 65 and older

· Social Security

· Unemployment. 

Some of  these things have not been considered income for purposes of taxes. TANF and Medicaid, for obvious reasons b/c they don’t pay taxes. Medicare because of political reasons. Social security in under a weird system pegged to AGI and it gets phased out. Unemployment is a recovery of income so just like compensatory damages in Glass, it needs to be taxed.

· Different approaches

· Justifications for 102(a)

· Duberstein

· Present treatment

· Section 274(b)

· BASIS: important concept in taxes. Back to unitek and alice and her retirement policy worth 50k at the end of employment. We had said income of 10k in the year of the purchase and then 40K when she gets it at the end because GAIN=AMOUNT REALIZED – BASIS (Amount taxpayer has invested in the property in after tax dollars).

· Income is a gain or a loss, so we cannot know what income is if we don’t know what the basis is. In other words, it’s not revenue but profit so we need to know what the cost was. IF WE”RE TALKING ABOUT DISPOSITION OF PROPERTY WE LOOK AT BASIS.
· Taft v. Bowers: This was justice Mc Reynolds: openly anti semite, racist and mysoginistic. He refused to sit next to Brandeis for the picture in 1924 because Brandeis was jewish!!!! Most hated justice.
· 3.
Inter vivos transfers of unrealized gain by gift : A purchases stock for 1000. FMV is 2000 at time of transfer to B. B later sells for 5000.  B says her accession to wealth was 3K of income. However, the statute 1015 said “carryover basis”: recipient stands on the shoes of the donor when it comes to a transfer of wealth. So her income is actually 4000. Question under taft, is whether under 16th amendment congress could tax you this way. Court says yes, they can tax on income “from whatever source derived”. A actually had an accession to wealth of 1000 so he actually had something worth 2000 to give. And not many A’s are reporting the amount which by the way is hard to valuate at time of transfer, so we solve the problem by taxing at the end, objectively verifiable number at the end. So it’s any accession to wealth CLEARLY realized. So it’s sort of a surrogate taxation. 
· 1-24-08, GAINS AND LOSSES, GIFT OF DIVIDED INTEREST

· 1. Transfers of Unrealized Gains & Losses

a.      Present Statutory Framework

   i.      §1001

· 1.      Says what Gain or loss is

· a.       Gain = amount realized – adjusted basis

· b.      Loss = adjusted basis – amount realized

· c.       Amount Realized = the FMV of all stuff received, cash and other

ii.      §1011
· 1.      Says that adjusted basis is defined in 1012, as adjusted in 1016

iii.      §1012

· 1.      Basis of the property starts at cost

· 2.      except as otherwise provided, if it is a gift under §1015 or §1014

iv.      §1015

· 1.      For computing Gain, Basis is always carryover from the donor

· 2.      For Computing Loss:

· d.      Carry-over, when at the time of the transfer of the gift, FMV exceeds the donor's basis

· e.       If, at time of the gift, FMV is less than the donor's basis, the basis for determining a LOSS is the FMV at time of the gift

v.      §1014

· 1.      Basis of gift from decedent is FMV at time of death

· 2.      This rule will go away on Jan 1, 2010

· a.       Estate tax goes away, basis changes to carryover of decedent's basis, is gone after one year

· b.      Handout 3

· 1.      Ella gives her daughter $5,000.  D buys $5,000 in stock, sold for $6,500.

· a.       Ella – no tax consequences

· b.      D – no tax consequences for receiving the gift

· i.      1,500 gain is income

· 2.      Same, but Ella raised the cash by selling stock that was bought for $4,000

· a.       Ella – gain of 1,000

· b.      D – no tax consequences for receiving

· i.      1,500 gain is income

· 3.      Now Ella gives the stock as a gift

· a.       D's basis is 4,000, FMV exceeds Ella's basis at time of gift, carryover basis under 1015

· i.      D's gain is 2,500 in income

· b.      Ella – no tax consequences

· 4.      S buys stock shares for $8,000; gives them to D when FMV is $6,000; D sells stock for $5,000

· a.       S – no tax cons.

· i.      Should not have transferred, should have sold shares and realized the loss

· ii.      Unless other motives outweigh the lost deduction

· b.      D – basis for computing loss is FMV at time of transfer

· i.      D's loss is $1,000

· 5.      Same prob, D sells stock for $10,500

· a.       S – no tax cons

· b.      D – basis for computing gain is carryover basis

· i.      Gain is 2,500

· 6.      Same prob, D sells stock for 6,500

· a.       Gain calc – amt real 6,500, basis 8,000

· i.      Gain is (1,500)

· b.      Loss calc – amt real 6,500, basis 6,000

· i.      Loss is +500

· c.       Solution – if FMV is less than donor's basis at time of transfer, and the donee eventually sells for an amount in between FMV and carryover basis, there is no tax consequences

· i.      0

· 7.      B buys Yahoo for 6,000; gives them to S, FMV 10,000; S sells for 8,500

· a.       S's basis is 6,000, amt real is 8,500, gain is 2,500

· i.      In the hands of S the stock declined in value, this is surrogate taxation

· 8.      Same as 7, S sells for 2,000

· a.       Computing loss, but FMV exceeded donor's basis at the time of transfer

· b.      Basis is 6,000, Loss is 4,000

· 9.      B buys Apple for 1,000, bequeaths to S, FMV 20,000, S sells for 22,000

· a.       Basis is the FMV at time of death, 20,000

· b.      Gain is 2,000

· 10.  B buys stock for 1,000, FMV increases to 20,000; she transfers to her lawyer in payment of a 20,000 bill, L sells for 22,000

· a.       L has basis of 20,000, (given as compensation, barter exchange) gain of 2,000.  L must also pay income tax on the 20,000

· b.      B has basis of 1,000, amount realized (FMV of everything received) is 20,000.  we have a realizable moment (1001 – amount realized from sale or other disposition of property)

2. Gifts of Divided Interest

   1. Nature of the Issue

·    2. Irwin v. Gavit: basic rule is that all the bassis, when there is a gift of property and there is income interest. The basis goes with the property. Read this case you were in florida. Economic efficiency  trumps here. 

·  Palmer received money to be given to his daughter in X years, and he is to receive the yearly interest, he does not claim it as income

·   Taxpayer's Argument

·   Income does not include property interest acquired by behest, should not have to pay

· Court's Holding:Court said we aren't gonna read it that way. Economic Realities.  If Palmer wins, there would never be unified interest in property.       Justifications

It is now codified in 102(b), income from any property referred to in (a), is income

· Basis

· no basis goes to the person receiving the income interest, it stays with the underlying property, the person receiving the remainder interest has all the basis.  But if the person buys this remainder instead, there is a basis which is the cost of the remainder. See last problem in handout 4.

·    scenario

· 1.      has nothing to do with the value being transferred

· 2.      PV of 100,000 in 40 years is roughly 2,000, the PV of the interest for the 40 years is roughly 98,000

·     3. Handout 4: important point is that all the basis goes to the owner of the remainder and none to the holder of the interest.
· 4.
Transfers at death (see above)

· 5.
Gifts of divided interests  (see above for class I missed)

· C.
Recovery of capital. (January 29, 2008)

· 1.
Introduction to capital gains : gain or loss on the disposition of a capital asset. A capital asset is essentially  a property other than property held for sale in the ordinary course of business (and not used or consumed for personal purposes). So anything other than inventory. So when you sell inventory, it’s income. Any other asset sold is a capital gain or a loss. Not income from property but a gain from the disposition of property. 

· 2.
The basic concept : Technically there is no such thing as a capital gains tax because it’s income, what we have is a capital gains PREFERENCE since they are taxed at a favorable rate. So there is a LONG TERM CAPITAL GAIN when it has been held by taxpayer for more than one year, so you get taxed at 15%. Short term capital gain is taxed the same as regular income.

 ON the loss side, there is actually a disadvantage, there is a limit on the loss you can get. Losses give right to a deduction. So you can only deduct at the most $3000 in capital loss plus your gain in capital gain. So if you loose 4000 and have no gains, you can only deduct 3000. If you have a gain of 10000 and a loss, then you can deduct up to 13000 in that year. You can carry over the rest of the loss for the next three years. So the capital loss carryover goes against whatever gains you had in the following years. 

DIVIDENDS Are not capital gains. They’re income from capital assets, but dividends are taxed at 15%.

· Timing issues: how do overtime taxpayers recover the cost of a capital asset? How does the taxpayer recover his investment in the property? What if the tax payer disposes of something less that 100% of the property and then at some point disposes of the rest, how do we allocate the recovery? 

· INAJA case: owned property with a river running through it and he used it for recreational purposes as a fishing club. LA starts dumping things upstream and the river is flooded and there is erosion of his property etc. He sues the city and settles for $50K and spends 1000 in expenses leaving him with a 49K net payment. He had paid 61K for the land. So, does he have lost profits of 49,000 which is replacement or recovery for future income and therefore income IRS theory, so under replacement theory is taxable (glass case)? Or is it some of the sticks in a bundle of property, as in an easement, or selling part of his property, so that he is entitled to recover his basis of 61K (inaja’s theory: it’s recovery of part if his capital and therefore needs to have his basis subtracted to figure out what his gain was)? My question is, did he keep the land? What was the market value of that? 

How do we figure out what part of the land is the easement so we can allocate the basis? So inaja says he has no income until his recovery exceeds his basis. In this case the 49K does not yet reach the 61K he paid, so he wants to defer the tax on the 49K because it is hard to figure out how much water will be going through and how much damage will be done. But he could try to sell it and do a valuation based on that: how much was it worth  before (ex ante and ex post) to figure out a ratio and how much he lost. Now we have regulation 1.61-6 that says try harder. Inaja has been followed and is still good rule, but usually there is a way to figure out his loss.

What happens when he sells for 80K?  that would mean that he had a revenue of 80+49=129 but his basis is 61K so that would mean income of 68K. (Do this only if the revenue is ALL recovery, if it had any component of replacement of income, you need to do: 61K-49=12K left in basis, and then subtract that from the sale price eventually. 

If Inaja had lost he gets 49K that is taxable. Later when he sells for 80K, he can use his basis of 61K, his gain is 19K so the actual taxable on both is again 68K. BUT the time value of money makes it favorable to defer the tax until ultimate disposition of property. It could be worth thousands of dollars. Also, his tax on the 49K if they are lost profits would be regular tax bracket on ORDINARY INCOME. (two kinds of income: ordinary and capital gain). Since he won, the 68K gain on the sale of the asset is considered capital gain and taxed at a lower rate. 

· 3.
Annuities and pensions: Again a question of timing. A buys an annuity from an insurance company B for 10K and in exchange will be getting 2000 for the rest of his life every year. He will be entitled to recover his 10K basis. He ends up getting 16K. So what’s recovery of basis? We could say the first five payments are recovery of basis and the rest are income. But that is incredibly, indefensibly tax payer friendly. Under section 72 we calculate an exclusion ratio= basis/total expected payout. So, if he expects to live for 8 years, that would be 10K/16K=62.5%. So that ratio multiplied by 2000=is 1250 which is the excludable amount because it is recovery of the basis and the income is the other 750$. So, it spreads out the recovery and the income equally over the years. The reporting of gain or income does not have to happen until the payments start! So no tax occurs until taxpayer is actually paid, and that deferral is very beneficial. So under section 72, we have a flourishing industry selling annuities and they charge you a fee for buying one that almost eats up the gain! 

· 4.
Gains and losses from gambling: Losses in gambling are only deductible as losses up to the gains, and if they are no gains realized, you cannot deduct a loss. Gains are treated as windfalls and losses are nondeductible because it is a personal consumption. But the loss can be deducted from the gain. So losses are nondeductible except to the extent of gains in the same year.

· 5.
Recovery of loss: Clark. Guy who overpays the tax he owes because of bad counsel of his tax guy who files jointly and made a mistake only to realize that he would have paid 19K less if he had filed separately. That is no longer the case under our law. So attorney gives him the 19K he overpaid. IRS comes after them and says they owe taxes on the 19K they get from the tax accountant. IRS relies on Old Colony Trust: emplyer paid the income tax of an employee (CEO) and IRS won the case because that payment was the same as compensation to the employee. But this situation is different because it was a loss to the clarks and they are just recovering the loss, not being compensated for services. In old colony there was an employer/employee relationship. But here it is not. In this case the tax liability would have been less. So, basically that money was already taxed. It’s not a recuperation of income. It’s money that has already been taxed.  It’s replacement of money  they would have enjoyed tax free.  The question is “in lieu of what” is the money coming in? if profits or income, then it is taxable, but if the money replaces investment capital it’s recovery of basis, and in this case, it replaces money they would have enjoyed free and clear after taxes. 

· Hypos on pages 125-6:

· Tom picks up pay check for 300 and gets home and does not have it. Is the 300 excludable? No, it is accession to wealth fully realized over which he has full dominion. So he needs to include it. But can he deduct it as a loss under 165(c)(3) losses of property not connected with a trade  or business if loses arise from fires, storms, shipwrecks, and other casualty (as per judem generosis) we construe casualty as the same items on the list? Probably not. So maybe the only hope is theft under (e). 

· Asssuming he was entitled to getting a deduction and does. But then in the next year finds the money envelope again. Should he file an amended tax return? No, amendments are only for mistakes that were done in the year at the time of the filing. Subsequent events that change the assumptions have to be filed in the current year as a windfall probably. So any event that is subsequent and is inconsistent with the earlier deduction, needs to be filed in the next year he files. It backs out the prior deduction. 

· Assume he did not claim a deduction. Should he pay taxes on it? Nope, it is a recovery of loss that was previously undeducted. Under replacement rule he’s recovering something he was supposed to enjoy tax free. 

· Now he finds an envelope with someone else’s 300 but cannot find the owner. Should he be taxed on it? It’s a windfall because he did not earn it. So it’s not logical with the other ones!

· Tom was allowed a deduction in 2000 but neglected to claim it (mistake) and then he finds his 300. What can he do? He files an amendment (nothing happens later that affects that determination at the time of filing.) and then he files in 2001 and includes the income. What if the SOL has run and he did not take the deduction? Since he was provided with means to amend and did not for 3 years, and policy is on the finality of tax returns, he would not be able to file the amended so he basically pays twice for the same income. 

· The importance of Glenshaw glass: accession to wealth clearly realized. He has stressed this a couple of times that this is the importance of glass. That it gives us a definition of income. 

· D.
Recoveries for personal and business injuries (Raytheon Production Corp. v. Commissioner pp. 141–145; §104(a), §105(b), (c); Reg. §1.104–1(c). Raytheon sues RCA for basically destroying the business of rectifying tubes for radios. RCA inserted clause 9 that said that anyone licensing RCA stuff needs to buy the rectifying tubes. Raytheon goes down, and becomes a licensee but sues RCA. Raytheon recovers $410K Raytheon reports 60K of it as income as proceeds on the sale of patents (they presumably had no basis on this) and they are left with 350K unreported. IRS sues for the taxes on the 350K. So question is: is the 350K income? Raytheon says no. It’s make whole relief. Ct says it could be loss profits as IRS claims, and thus taxable because it replaces income. The question is “in lieu of what were the damages awarded? But the ct says this is not lost profits. Ct says this was “good Will”: reputation, brand name, customer loyalty. Whatever has been built up overtime that is connected with that company. If you sum up all tangible assets and all the patents and intangibles, and take it away, you’re left with good will. Ct says the payment is for the destruction of raytheon’s good will. The physical assets are there. But the customers and business are not. So it’s as if Raytheon had sold the business or property, but there is no basis. It does not matter whether the conversion is voluntary or involuntary: as in the destruction of the asset by someone else. General rule is  when you have disposition of property you take the amount realized and you subtract from it the basis to get the taxable gain.  In this case, the amount realized is $410K. But what is the basis? Hard to determine and taxpayer had the burden of coming up with the basis so the income or gain was still 410K so they get to pay taxes on the whole amount!  So, when you have a company that self generated goodwill there is no basis. But when you have a company being bought by another, that can constitute the basis. 

· Two part framework for these issues:

· 1- is it income under §61? If not, you’re done. Raytheon deals with this question. Question is “in lieu of what? 

· 2- If yes, is it nonetheless excludable. Section 104 (a)(2) is the reason why some income is excludable when it is a damage award. Gross income does not include the amount of any damages, other than punitive, received “on account of” personal physical injuries or sickness. If the triggering event the exclusion does not apply EVEN if there are physical manifestations resulting from this event. So the triggering event has to cause immediate physical sickness or injury. This is from the legislative history. CASe of Murphy: if the case does not involve a physical injury or physical sickness the recovery  is not excludable. So note that recovery from mental pain is income within meaning of 61.  Cts have read that language as having a strong negative implication so that if it is not on account of physical personal injury, it is not excludable. In Murphy there was emotional distress and damage to reputation and she claimed under 16th amendment it is not income the congress is entltled to tax, and it’s not income under section 64. She loses in lower ct. Ginsburg the circuit ct judge who is a libertarian, says he buys both arguments because congress is constitutionally forbidden from taxing anything that was not considered income in 1913 when the code was passed, and it was replacing something the tax payer was entitled to enjoy tax free. This decision created hysteria in the tax world. Within 6 months, the ct granted sua sponte a rehearing and went the other way. They said that since congress said or added the word physical it must mean something so they must be saying that it must be physical. Murphy filed in the Supreme Court for certiorari. He does not think they will take it. 

· E.
Transactions involving loans and discharge from indebtedness
· 1.
Loan proceeds: Usually not considered income because it is assumed that you will have to repay it. Unstated principle: loan proceeds are not income and repayment is not deductible. Does not matter what proceeds are used for or what you use as security, because there is no accession to wealth. Recourse loan is when the borrower is personally liable and non-recourse is when the property is the security. Recourse they can go after other assets. Non-recourse only the assets the loan paid for usually. 

· So what happens when a person does not fully repay the loan and therefore the basic premise is false? Kirby Lumber case: they issued 12 million worth of bonds and later they repurchase 1 million worth of debt for $862,000 thereby saving 138,000. Bonds are borrowing agreements  but they just ask the public for the money. So even though this seems like a discount and therefore not taxable, it is money they are buying, so it’s like when you work and you make money which is income. It also breaks the basic premise that you will repay it. IN the case of the bonds, the price of the bond might go down if the interest rates go up because they can be making 8% instead of 5% they’re getting in the bonds. So they would rather sell it at less and reinvest on another similar bond for 8%. So the company gets a bargain in the repurchase. Also prices go down if there is an increase in the company’s risk of default. So fluctuation of rates in the economy  affect whether a company has income due to discharge of indebtedness.

· Provision that says in 108(e)(5): if you borrow money from a seller and then end up paying less, that is counted as a discount on the original purchase. 

· Another provision in 108 says that if you’re insolvent and you don’t pay the debt because you’re bankrupt, that does not count as income, but when you ultimately sell your assets or get back on your feet and make income, the income you had from the reduction of debt will be counted as income

· 2.
True discharge of indebtedness (pp. 146–149; §61(a)(12))

· 3.
Relief provision (pp. 149–150; §108(a)(1), (d)(1)–(3), (e)(5))

· 4.
Debt discharge as part of an exchange (pp. 159–163, Reg. §1.1001–1(e)). Slightly different from Kirby lumber because it involves a transfer of property:

· Dierdrich Case: they give the kids stock subject to the condition that the kids pay the gift tax. Their basis on the stock given was $51K. The gift tax owed by the donor is $60,000 but the kids pay it. The kids argue that the payment of the tax was a gift to the parents! But a conditional gift is no gift at all. IRS says the difference between the tax owed and the basis is 11K which is income. NOTICE: It does not matter that the liability is a tax, it could be a VISA bill or country club fees, or whatever. It goes back to Old Colony where company paid the CEO’s taxes. Much more logical way to look at this through tax logic is to say that there was a sale of some stock to satisfy the tax and therefore we subtract the basis, and then the rest was a gift. So if the children in reality bought the stock worth 300K for 60K then their basis is 60K so when they sell it at 300K their gain is 240K. He thinks the better way to deal with this is to think of this as a part sale of some of the stocks and then an outright gift. If the stock is worth 3$ each at the time of the gift, we need to sell 20 thousand shares to get 60K for the taxes. Their basis was 50 cents a share so a total of 10K so their gain is 50K in income. For the children, however, the amount realized is 300K, their basis is 60K because they paid that much for it in taxes, plus 40K in transferred basis from the parents (80K shares X 50 Cents) so the total basis is 100K therefore when they sell at 300K they have a gain of 200K. 

· Regulation 1.1001-1(e) says you cannot do what Dierdrich says of treating it as one big sale, because he did the whole explanation of what happens if the tax were 40K. Since the basis was 50K then there would seem to be  a loss to Dierdrich even though the property increased in value sixfold. So the holding in Dierdrich would yield weird results. W

· When you’re a donee, you also stand in the shoes of the donor fr the purposes of long term capital gains, juts as thye stand in the shoes of donor for basis. 

· For charitable contributions as a sale below fair market value, so you give them 100K in stock for 20K, then you do what he did with the sale of stock to the kids where he sold the stock to the kids at FMV so he can cover the taxes he owes, and then gives the gift outright. 

· So: FMV=10,000$

· Basis: $1000

· Sale Price=  $2000  so we set up a ratio 2000/10000=20%  so 80% is the gift. 20%  is the ratio we multiply by the original basis of 1000 and we get a basis of 200  So basically  what we’re trying to find out is that the charity is paying 20% of the fair market value therefore we need to also compare that with the appropriate 20% of the basis only, otherwise it would always result in a loss, even though there was a gain in market value. 

· Amount realized is 2000 and the basis is 200= 1800 in gain

· 5.
Transfer of property subject to debt (pp. 28–29 (section 5); pp. 163–180; Reg. §1.1001–2(a)

· Depreciation: decline in value. Deduction to account for the  expected decline in value of a WASTING ASSET used to generate income. So land is usually not considered depreciable.

· Let’s say we buy an asset for 10K and it will last 5 years so we allocate the cost over the life of the property. If we do it normally, we would say 2000$ per year. So what do we do with the basis? After one year, his basis is 8000, so depreciation is a way of recuperating investment. In fact this is the way it works whether or not the owner claims the depreciation, the adjustment to basis is mandatory. This is to get around the hanky panky of making their income look larger by not reporting depreciation.

· If property gains in value, you still apply the adjusted basis. The code sets out the depreciation you get to claim and you’d better claim it because otherwise your basis is zero at the end and you have not had deductions through the years. This is to provide an incentive for investment because we are accelerating the depreciation and therefore subsidizing the investment. 

· THE CRANE CASE: she inherits property worth $262,042.50 and her mortgage owed was also the same amount. Over her ownership of the building she takes depreciation deductions for 25,500$ and then she sells for 2500$. She (Beulah Crane) claims her basis is zero because her equity is zero. However, the ct and the IRS say that the statute does not say equity but the value of the property, unencumbered with mortgage. But she was taking the depreciation and it is a way of recuperating basis, so she cannot claim she had no basis if she was trying to recover her non existent basis! Congress chose to use the word property and not equity, so the basis is the FMV when she inherited it. WE IGNORE DEBT when we deal with inherited property. So we deduct her deductions from her basis to adjust her basis: 262,042.50-25,500=237,000 or so. She claims her gain is only 2500. She says this is the amount realized. But it is not, it is the amount of the mortgage the purchaser assumes and the amount he gave her. We have to include the relief from the debt in the amount realized so about 260K in assumed loan plus the 2500 or so and from that we deduct the adjusted basis of 237,000  which should give us more or less the same as her benefit of deductions of 25,500 plus her actual income of 2500 in the sale. 101.4 says that the basis is the fair market value. So in this case ct says we treat that release from debt  as added to the amount realized.

· Hypo: buy it for 120 borrow 100. Then land is worth 75$. Why would he pay 100 back for a land that’s only worth 75$  and that’s the security for the loan. So he would likely walk away from the property and leave it to the bank. So if he sells it and the new prchaser assumes the loan, should he include that in the income realized?

· TUFTS: circumstance where the FMV is below the amount owed. In this case he borrows 1,851,000. He pays 44,212 into the property and claim about 440,000 in depreciation deductions. Then the property goes down in value to 1,400,000. They sell it for 250 and the purchaser assumes the loan of 1,851,000. The incentive for a partnership in investing in this type of thing, is to take the accelerated depreciation whereby they delay taxes and use the money, and then when they sell the building is a capital gain and therefore taxed at a lower rate, and you have reduced your ordinary income every year, so this is a great tax shelter. This has mostly been shut down by a certain regulation we’re not going into. Taxpayers say they have a loss of 55K because that’s the difference between their adjusted basis of 1,455,000 (1,851000+42K -442,000 deducted) and the market value of 1,400,000. They claim the loan is only secured by 1,400,000 therefore the true value of the debt is that amount and that’s what the value realized was to them, even if the buyer assumed a larger debt. But the ct says, no, because they’ve deducted 442K and obtained that benefit so they cannot possibly be incurring a loss. Also the premise of not charging him income on the loan is that he will pay exactly the same amount, so that income has not been taxed. So the better way of doing it is subtracting the adjusted basis from the amount realized which is the value of the loan.

· O’Connor’s approach: treat it as a bifurcated operation. Sale: amount 1.4 FMV which is amount realized of 1,455,000, so they had a loss of 55,000. On the loan transaction: they owe 1,850,000  and released 1,400,000 in value so they ended up with 450,000 income. It is discharge of indebtedness income which is ordinary income. LEARN AND USE these TERMS. HE MADE A BIG DEAL ABOUT THE TERMS, BECAUSE IF IT WERE CAPITAL INCOME IT’S TAXED AT LESS, SO it’s important to call it discharge of indebtedness. If you deduct the loss of 55K from the 450K you end up with the same ordinary income of 390,000. Capital gain is capital gain, the only question is whether they held it for more than a year to make it long term capital gain and get the preferential treatment or short term capital gain. 

· The purchaser: gets the basis calculated at a maximum of 1,400,000 which was the FMV when he got the property. 

· Depreciation: is connected to the price the buyer bought it for, REGARDLESS OF value OF tHE LAND< OR ANYTHING ELSE. Depreciation is recovery of the capital invested so it’s the basis, not the actual value. Except that the maximum basis allowed will be the FMV at the time of the transfer.

F.
Illegal income (pp. 180–185)It is income and taxable! It would be perverse to tax legal income and not illegal income. What about expenses? Escort services! Completely deductible!!! With two exceptions: expenses related to illegal drugs. Payments that are themselves illegal. Bribes, kickbacks, etc. So, true embezzlement is taxable but in Gilbert, he was not intending to abscond with the money, so it was not true embezzlement.

· III.
Problems of timing

· A.
Gains and losses from investments in property

· 1.
The realization requirement (pp. 27–28 (section 4), 193–194, 213–224; §165(a); Reg. §1.61–8(c), §1.165–1(a)). There is no taxable gain until there has been realization of that gain, some sort of disposition of the asset that gives us the realization. So we need:

· a- income in an economic sense: increase in value counts.

· b- realization event

· c- recognition: it’s not subject to a non-recognition provision). Those provisions would allow the taxpayer not to recognize gain or loss.

· HYPO: taxpayer buys property for $300,000 and sells for 550,000. So there is income in an economic sense because there is an increase in value, there is a realization because he sold it, and so there is a gain of 250,000$ BUT there is a non-recognition provision that  says that if he lived there for two years out of the last five, he does not have to recognize the income. So gain realized is 250,000 but recognition is 0. 

· So the question is not whether the taxpayer is better off, because the value of the house was 550K and the cash was 550, so the realization itself is not what makes the taxpayer better off. It just has to do with when is the best time to recognize the gain earned.

· Cottage Savings: Savings and loans were lending at 7%, rate goes to 16% or so, therefore they were losing money because they could be lending out at 16% instead of 7%. The banking organization issues a memo saying that they can swap the loans with each other and recognize the losses but not declare them immediately as losses for financial accounting purposes and they can amortize them over time, so their stock does not collapse! For tax purposes they have huge losses that generate immediate deductions that could even be used to amend past years’ filings to recoup against past years’ income. IRS says there is nothing of substance because this is all paper transactions or electronic transactions that there is nothing substantially different between the mortgages they’re exchanging. IRS says they have to be materially different. Ct say yes, and it means that they have to be legally distinct entitlements and they found that the banks exchanged mortgages in different neighborhoods and different states, etc.  So therefore, there was realization of the loss when they exchanged mortgages. 1031 says that if there is an exchange of like kind property you don’t have to have a realization. So for some reason the ct says that 1031 would be moot if we could not realize when things are different. 

· What purpose does the realization requirement serve? Administrability. Value is easier to determine at that time because the value is market driven and not assessed. You would also have to do it every year. Liquidity: the taxpayer actually has the money to satisfy the tax burden when he sells the asset. 

· Criticisms of the realization doctrine: it creates unusual conduct: assets become sticky because you may realize a gain. That runs contrary to the policies in property law which is to move the assets. (which could show why 1031 is there, so as to provide some incentive to move them). Tends to increase the incentive to hold assets that lack realization. So this distorts investment decisions. Vertical equity concern: rich people have the ability to buy stocks which gain income without realization and poor people can only get income that is salary which is realized immediately. 

· 2.
Express non-recognition provisions (pp. 190–191, 224–226, 231 (notes 1 and 2); §121(a)–(c), §1031(a)–(d), §1033(a)(1), (2)(A), (B); Reg. §1.1031(a)–1). So assuming we have income in an economic sense and a realization event, do we nonetheless have a non-recognition provision available:

· a- involuntary conversions:1033. Raytheon for instance which did not want to sell but had no choice. Also theft and fire or destruction, condemnation, or seizure due to eminent domain. TP can defer the tax liability t the extent that he reinvests the amount within the next two years for replacing the 1222property in a similar or related manner. So gain will be lesser of the gain realized OR the amount of recovery not reinvested in property similar or related in use. Example: TP has property with a basis of 400K. FMV= 1 million. Building burns down to ground. Recovery from insurance is 800,000. Economic gain: yes. Realization: yes: 400,000. Taxpayer buys within two years property or erects a new building at a cost of 1,200,000. How much does he have to recognize? Zero. Bc all recovery was invested. So the lesser of the two is zero. These are deferral provisions until the ultimate disposition of the asset, so the basis of the building = cost of new building or property- unrecognized gain= 1,200,000 – 400,000= 800,000 is the new basis. IF you assumed you would reinvest and did not report, you must go back and amend your return for that year! 1031 is there because of horizontal equity so we want to allow people to continue as if the event had not happened because it was involuntary.

· b-Like kind exchanges: 1031.  If taxpayers exchange like kind property there is no recognition of the like kind property involved, but only of the non-like kind property. 

· What is like kind property? Excrutiatingly detailed regulations. All real property is like kind wth all real property regardless of what type of real estate it is. But not so female and male cows! It has to be held either in a trade or business or to generate income. (investment ok). We evaluate it on a taxpayer by taxpayer basis. A and B trade property. A’s is a rental B is a residence. A intends to use B’s property as a rental. A can take advantage of 11 but B cannot! Even if B intends to use it as rental. The property HELD has to be used as  business.  At the moment the exchange happened, not if you convert to another use later. 

· HYPOS:             A                 B              

·      FMV:          100            100 

·     Basis:           40              60

· Gain realized      60             40

· Recognized:        0               0

· New basis          40              60 because it stays the same so you can pay taxes on the fully realized value when you sell it. 

· boot from B:      20

· Gain recognized  20 because there was gain

· New basis in the LKP= old basis+gain recognized on like kind property-fmv of the boot+fmv of boot given. VERY IMPORTANT FORMULA!!! So it’s the net of boot that gets subtracted from the gain to get  the new basis since we already paid taxes on it.

· Whenever someone gives boot, rather than receive boot, the amount of the boot has to be treated like further investment in the property so we add it to the basis.

· If there is a transfer of debt, we do the net debt relief so boot is going only one way!!! And then  you treat it as simple boot going one way.

· Boot is not like kind property so if taxpayer has a gain, boot has to be recognized. But Gain recognized is the lesser of the gain ralized OR the fair market value of the boot.         

· Property received as boot that is not like kind always takes a basis equal to its fair market value.

· Hypo: A ‘s land is worth 100 basis 40 and mortgage of 20. A transfers that debt to B along with the land. And trades for land worth 80 with a basis of 50. Solving for A:

· Amount relalized: 80 (FMV of B’s land) + 20 in debt relief= 100

· Gain realized= 60

· Gain recognized 20

· New basis: old basis+gain recognized- FMV of boot received +boot given=40+60-20=80 is new basis.

· If you do a transfer of like kind property and use it for the business property, for at least one year, you have to wait at least 5 years before you can exclude it under 121 if you then use it as a residence for you. BUT you don’t get to exclude any gain you got because of depreciation when it was being used as a business. So the portion of the gain that is attributable to depreciation deductions is not excludable. So it’s almost like depreciation recapture. 

· 3.
Boot and basis (pp. 231–233). See above. 

· B.
Recognition of losses (pp. 237–241).

· Here we don’t have an exchange we just have a precipitous decline in value. So the question is at what point, if any, can the taxpayer claim a loss and recognize it. This is the airline case where they took a huge loss after the airline deregulation that allowed anyone to fly anywhere and route authorities were not needed anymore, so their value declined severely. Airline claims a loss but IRS issues  a regulation that says no, there is no loss because they have not lost anything since they can still fly there, never mind that others can too. They could charge much higher fares before deregulation so revenues really went down. The airline had not deducted their cost in acquiring the route authority because they capitalized it. So instead of deducting them immediately, they put them into the basis of the asset as an accounting matter. But loss is basis - amount realized. So they do have a valid claim in trying to deduct this as a lost. All costs incurred to acquire a long lived asset, must be capitalized. So buildings, machines, etc. But not supplies that get used up. If it is a wasting asset, the taxpayer is able to depreciate. If not, then it just sits there until final disposition. But the regulation 1.165 something or the other says that there must be a closed and completed transaction  fixed by identifiable events and actually sustained during the taxable year. So, arguably, when the airline folds and says we no longer need that authority anymore, then they can take a loss and since amount realized would be zero and the basis is still there, the whole amount capitalized would be lost. So you may have an economic loss but not a tax loss. 

· Selling short against the box: you own 100 shares  with a basis of $100 now worth 5000. You borrow someone else’s stocks for the same company and you sell those, so you realize 5000. No tax since it is not yours, and then you can simply give Joe your 100 stocks for having borrowed  his.  Or she buys when she needs to return them, another 100 stocks. So, if the stock has gone up, her stock has also gone up so she can afford the other stock by selling hers (so she only pays tax on this one sale) and if the stock has gone down, she can buy it for a song and pay Joe with 100 stocks worth nothing. So whether it goes up or down you don’t care! You eventually do pay taxes on all amounts realized but only years in the future when you have to return the debt. NOW, regulation 1259 says that if you constructively sell the stocks it is treated as a sale. 

· C.
Annual accounting and its consequences: we measure income on an annual basis. Income is a flow, so we must measure it in a time period. Burnet v Sanford & Brooks is the seminal case that establishes that we measure income on a yearly basis. Sanford had a contract to dredge the Delaware river. They incurred lots of expenses and the material was more difficult to dredge than stated by the government originally so they are making losses every year. They later sue and recover the amount in 1920. SO they had losses in 1913, 1915, 1916. The dispute concerns what we do in 1920 when they recuperate that money. T says no income. IRS says yes, it is income. T says it is a break even in an economic sense in this contract because the money the recuperate the money they lose only, not the profit. So if it all adds up to zero, why pay taxes? How much was that deduction worth every year? Assuming every year the loss was 60K or so, their tax was zero, not negative taxes. The value was zero. This assumes this was their only contract, so whether their loss was zero or negative 1 million, the taxes would be still zero, so this is a harsh result because the revenue of 176K is taxable. The alternative the T is looking for is a transactional look at income, so we would have to wait three of six years so that we see on that transaction whether they made of lost money. Administratively, this is a nightmare. So ct says that there’s nothing in the constitution that prohibits congress from using an annual basis. The T is suing because they say that congress cannot tax anything not income and this was not income if they look at it transactionally rather than yearly. Congress ultimately thought this was too unfair and enacted section 172? so that taxpayers can carry losses to other years and deduct them. 

· How do we reconcile this result with Clarke? Where the tax counsel provides negligent advise and the ct says you don’t have to include it. In Clarke, it replaced something they were allowed to enjoy tax free because it had already been taxed. Here, the money goes to replace income that would be taxable no matter what. This was a pure problem of mismatching of timing so that deductions were worthless. 

· Net Operating Losses As Sanford and Brooks. Problems 3 and 4. Section 172 was passed to lessen the effect of harsh rules like Sanford so the tax benefit of the deductions are not lost. Not all losses can be carried over 172 (d) are the modifications. Taxpayers can carryover losses for 20 years. But in computing what’s your operating losses you cannot include net operating losses from this year and others. So, year 0 txpayer has a loss of 1 million. In the next 19 years he only has 900,000 in income but he still has 100,000 to deduct. In year 20 it can be used as deduction , but it canot be added to net operating losses because that’s the figure that’s used to figure out how much he can carry for the next 20 years and therefore if you lump it with year 20’s losses, it would never end.

· Problem 3: 1999:

· 60K salary

· 4K exemptions

· 16K itemized non business

· so his total taxable income is 40K

· 2000

· 80K business loss

· 60K salary

· 6K exemptions

· 15K itemized non business

· So income is 60-(80+6+15)=<41> loss

· But you can only take into account business deductions to calculate carryover loss, so it would be 60K-80K= 20K loss that can be carried over and he can also amend 99 return claiming an additional 20K deduction so his tax return  would report not 40K in income, but 20K in income. 

· Problem 4: Before 172 came on this was the scenario for a company:

· 1995    1996    1997         1998     1999      2000

· $400    $700    <3000>   700         700        600     Income

· You have to use the carryover the soonest tax year you can use it, so you have to go to 95  But you can chose not to do a carryback and you waive all carryback and they have to be consecutives

· Deductions:

· 400     700                         700      700        500 so last year you have a 100 income on 2000 and zero on all other years ‘cause you deduct the entirety of the income you made on all those years. Read 172 so you understand this better. This was not really clear. Especially the part about you must use it the earliest you can use it.

· 1.
The use of hindsight (pp. 126–131; §172(a), (b(1)(A), (2), (3), (c), (d)(1)–(4), §441(a)–(e); Reg. §1.165–1(d)). See this net operating losses section above.

· 2.
Claim of right (pp. 131–138; §1341(a), (b)(1)).

· North American Oil: Government has dispute with oil company and appoints a receiver to get the money created from that land. In 1917, Government loses case and the money is given to Norh American Oil. Government appeals and in 1922 SCOTUS affirms. When  is it that NAO must include the income as taxable? They could choose to have the receiver pay taxes in 1916. But they don’t. They claim they should include it in 1916 because it was earned then. Or it should be included in 1922 when they actually knew the income would not be taken out. Ct says that it was still not guaranteed they would get it because the lawsuit was still going on. There was a” bona fide dispute that was substantial enough”. If this happens, even if they think they are entitled to it, they cannot report it. Ct says the year is 1917 because they now have a claim of right to the money and the receiver transfers it to NAO so it has the money, treats it as its own and concedes no offsetting obligation. Claim of right doctrine:

· Has the funds

· Treats them as its own

· Concedes no offsetting obligation

· So this is the complete dominion part of the glenshaw glass definition of income: an accession to wealth completely realized over which taxpayer has complete dominion. 

· Ct decides not to wait until 1922 because finality is important and it’s always uncertain that you will get the money. There are always contingencies but we have to fix the line somewhere. NAO wanted 1926 because their tax rate was only 2% but in 1917 the rate went up to 6% because of WWI.

· What would happen if NAO loses in 1922? They would be allowed a deduction because it was income in 1917. So deduction is allowed in 1922. But is that sufficient?

· Lewis case: gets 22K bonus in 1944. Employer discovers mistake and Lewis has to return 11K in 1946. Claim of right in 1944. Loss of 11K in 1946. Lewis does not like this. In 1944 the marginal tax rate was 95% because of the war! So assuming 50% tax rate in 1944 so that would give him a tax of 5,500 whereas if tax was 20% in 1946 the deduction would have been 2200 so he’s off 3000. So he wants a tax credit of 5500 against what he owes in 1946. Ct says nope because we have an annual accounting principle. It would be like amending his tax return in 1944. So we end up with §1341 which says that not only are you entitled to a credit but you can chose between that and a deduction whichever results better for you as long as the deduction would exceed 3000. So you pay the lesser of the tax after deduction or the tax after the credit. 

· 3.
The tax benefit rule (pp. 138–141; §111(a), (c))

· discharge of indebtedness doctrine is like this. You don’t pay taxes on loans unless you don’t pay it back. In tax benefit rule it’s sort of the same except it does not include a loan.

· Leading case is Alice Phelin Sullivan Corp. who donated land to a charity with condition land was to be used for educational or religion purposes. But after 20 years they get the land back because charity could not use it for those purposes. Alice had claimed deduction for Fair market value of land. What do you do in year 20 when they get back the land? We report as income the amount of the prior deduction. But that is inconsistent with annual accounting principles because FMV is higher! But that’s the way it is. This is the inclusionary side of the tax benefit.

· Exclusionary side: If there was no tax benefit in the year of the donation, so there was no benefit, you are also not required to include the income when  you recover it unless it was some sort of a carryover that has not yet expired. 

· Sanford and Brooks revisited: 

· D.
Constructive receipt and related doctrines

· 446 a. You have to pay taxes in the same way you keep your books.

· 446b. The irs can come in and recalculate if you’re playing interesting games

· 1.
Introduction to accounting methods (pp. 25–27; §446(a)–(d); Reg. §1.446–1(c)(1)(i), (ii)).

· Cash receipt method of accounting: Taxpayer receives or constructively receives cash or economic benefit and has a liability only when paid

· Accrual method of accounting: income happens when all events have occurred to fix the right to the income and it can be determined with reasonable accuracy. So you don’t need constructive receipt or economic benefit to have income here. Liability happens when all events and have occurred to fix the liability and amount can be determined PLUS “economic performance”. Economic performance is needed because otherwise it would be a tax deduction. You could structure payment of 20 million in ten years, deduct the 20 million and get an immediate tax benefit of 3 million which you could invest and end up ahead. So economic performance says that you actually need to pay or at least deliver the service or the property.

· 2.
Constructive receipt and economic benefit (pp. 253–259; §451(a); Reg. §1.451–1(a), Reg. §1.451–2). ONLY RELEVANT FOR CASH BASIS TAXPAYERS. We only care about these two if it is a cash taxpayer.  Handout 11. Constructive is when taxpayer has control or set aside for him and he can have access to it and reduce it to cash. Is it within his control to reduce it to cash.

· Promise to pay next year you don’t have the right to collect payment and if it’s not secured, forget it, you have neither constructive receipt nor economic benefit because it’s not secured from my creditors if I’m the promisor. BUT if it is a secured promise, like a bond, then you do have to report it as income. You need an unforfeitable right and it must be secured. See handout 11 for clarifications. Once something has been received by employee, even if only constructive,  it has been paid by employer. 

· 3.
Deferred compensation (pp. 268–274; §83(a)​–(e)).

· 4. 
Qualified employee plans (pp. 282–286). These are retirement plans. Previously we had talked about non-qualified plans as in non tax preferred and set up entirely outside of the scheme set up by government. Here we have four basic things that happen that make it work:

· Employer contributions are not taxed. Even though they are fully vested and set aside, so these are exceptions to the economic benefit doctrine.

· Employee contributions (in salary reduction) are not taxed Section 401K or 403 b

· Growth in account is also not taxable even if there is realization.

· All is taxed upon withdrawal and is taxed as ordinary income!

· There is a non discrimination provision so it has to be provided to all employees and at the same rate. So that places a restriction of what highly compensated employees can do.

· Must comply with Erisa having to do with funding of the retirement account.

· Only withdrawn at retirement. Although you can borrow against it to buy a house, or whatever. 

· The benefit is in deferral not exemption. 

· There are different types:

· Traditional IRA: permits effect of a qualified employee plan for an individual; Person makes contribution and permits a deduction so it goes tax free, grows tax free and is taxed at withdrawal. Limit is 4000. 

· Roth IRA: The same but in reverse. No deduction for contribution so it’s made with after tax dollars, growth is tax free and no taxation upon withdrawal. Economically, they’re  (IRA and ROTH IRA) identical assuming the same tax rate on both years. Contributions are limited at the same 4000, but since ROTH is after tax, the contribution is more.

· There are college savings plans under 529 and medical savings plans, etc. and tons of regulations.

· All these are encouragement for people to save for retirement, they have nothing to do with a formal definition of income, and are, by all accounts, income and should be taxed.

· 5.
Stock options, restricted property, and other employee compensation (pp. 286–301; §422; Reg. §1.83–7(b)).

· Employer provided stock options are ways for employers to compensate  employees. It is a contract between option contract and someone else that entitles the option holder either to buy or sell stock at a certain price at a certain time.  Holder can exercise or not during the window. They come in two flavors:

· Call option: entitles holder to buy

· Put option: entitles holder to sell

· We will be talking about employer provided stock options and they are call options. Three important variables that will affect value of options:

· Exercise price; at which they can buy the stock.

· Time window: when can they exercise it.

· Vesting requirements: employee must remain an employee at time of exercise, or he needs to work at company for two more year, or they get 30% a year for the next three years, etc. These are the incentives for employees to stay.

· There are three significant events that occur in the life of an option. What would make sense if we tax at each event?

· Grant (year 1)

· Exercise (year 5) employee purchases the option

· Sale of stock (year 10)

· The code mandates that we tax  at one of these events.

· Hypos:

· Grant 1 option at $5. FMV of stock is $12.

· Time of exercise FMV is 20

· Sale at $30

· If we are to tax at time of grant, the value taxable to the employee is FMV of option which is 12$ -5 which was the cost, so it would be $7.Assuming you need to exercise right away. But if not,  Because the employee is protected on the downside because if goes below $5 you’re out the value is a bit more than $7 but because it has all sorts of strings attached, that forces FMV down from $7 so it sort of equals or evens out. It’s tricky to assess FMV of stock like this. Because this is compensation, it is considered ordinary income. And employer gets deduction the year the grant takes place at whatever FMV the employee gets it.  Then at time of exercise, nothing happens, because the employee is merely using contractual right to purchase the stock. In year ten, if sold at $30, then given the basis of 12, she realizes $18.  So since she’s already been taxed for the gain from 5 to 12, her basis is at 12 which was the FMV at time of grant, so she only needs to pay taxes on the excess from 12. This is capital gain. b/c appreciation in value of asset. Employer is out of it, so he gets no further deduction.

· Tax at time of exercise:  Nothing to tax at time of grant. So in year five, he buys at $5 and the FMV is 20 so $15 is the amount taxable. He has acquired stock that can realize him $15 immediately. Ordinary income. Compensation. Much more convenient time. Employer gets to deduct $15 as well because employer owns the stock at $20 but sells it for 5 so he can deduct his ‘loss” of $15. At sale time for employee, his basis is now $20 and he sells at 30 so his gain is 10. And employer is out. The ten dollars is capital gain. 

· Tax at time of sale: Employee would be taxed on $25 (30 realized-5 cost=25). It is capital gain. Employer gets no deduction because if all this is capital gain, there is no compensation, which means employer cannot deduct any of it! This is what we do under section 422 which is ISO (qualified stock option) Non qualified get taxed at time of grant or exercise.

· For it to not be taxed until sale time it has to qualify under section 422 as an incentive stock option:

· Two years from grant to sale of stock. 

· Stock itself must be held for one year

· Pursuant to a plan ratified or approved by share holders. This is limiting. There are some high paid execs that don’t want their compensation package in front of shareholders

· The exercise price must be greater or equal than stock price at time of grant. 

· There is a 100K $ limitation. (422d) not a 100K $ worth of stock but 100K associated with a stock. IE: Gives A 90 options on March 25 of 2008 when price is 100 per each) exercisable on 3/25/2009/ so this is 90,000$ that counts towards the limit. Suppose a day later stock price is still 100$ company grants emplyee an additional 200 stocks also exercisable on 3/26/09. Now we’re over the limit bacuase it would count as 20,000 which is over the 100,000 ,limt we have, so only half would be ISO’s and the rest would not. If it had gone to 50$ per stock, then all of them would qualify as ISOs! What matters is the stock price at the day of the grant. But if they vested in three years, the cap would be 100000 for each year.

· Now imagine we have non-statutory qualified stock options, non ISOs: first question to ask is at the time of the grant does the option have a readily ascertainable fair market value? This is a pivotal question under Cramer. Not the stock, but the option!!! If no, then we tax at exercise. Even if it gains in market value in the interim, we still tax at exercise. If it is ascertainable and it’s either Non forfeitable OR it’s immediately transferable we include it at grant. So the two requirements are that it not be forfeitable OR that it is immediately transferable. So this is again economic benefit doctrine. 

· Assuming it is not immediately transferable and it is forfeitable, then two things can happen:

· We include it when it becomes an economic benefit (by being non forfeitable or immediately transferable and hence we have an economic benefit)

· Or the person can make an §83(b) election and chose to include at grant as income. So the upside is that person gets taxed on that as income and the gain is capital gain, but if the value goes down, the person is out of luck because he already paid taxes on something that did not gain anything. Cramer et al, chose the election because the value was hard to ascertain but could be, but was forfeitable and not  transferable so they chose to include at grant But because it was so risky, they chose to include it at $0. 

· So the key question is whether it has an ascertainable market value at time of grant even if it’s not transferable OR non-forfeitable and if so, they can elect to report income at grant. They do but they say that it’s so risky that the value is zero. What determines whether it has a readily ascertainable value? Regulation 1.83-7. If not, we include it only at exercise. Reg 1.83-7 asks: Whether it’s 

· Actively traded on an established market (generally not the case for small companies) (IMED does not satisfy this)

· Must be transferable

· Exercisable immediately in full by the optionee

· Not subject to condition or restriction that has significant effect on market value , and 

· Fair market value is reasily ascertainable in accordance with paragraph  (b)(3) look at the regulation. See also page 297.

· Cramer was challenging the regulation by the Department of Treasury. IRS has role in informing but does not have the right to promulgate the regulations. Regulations are interpretations of the statute. They are not law but they can be legally binding. As per Chevron, the judiciary exercises great deference and goes through 2 steps:

· Has congress clearly spoken to the question? If so, the agency is bound by that. Did congress say what section 83 means and what readily ascertainable means? Then we would be done, but they did not. So we go to step 2:

· Is the interpretation reasonable? If so, judiciary will defer to agency. The executive has legitimacy to do that because it’s elected and can be changed, and secondly, there is implicit delegation of power from Congress to agency.

· The less formal the rulemaking, the less deference.

· Cramer reported it as sale of stock. Manufactures basis and reports based on that. He spent a lot of time criticizing Cramer as fraudulent. 

· IV.
Income splitting and the taxation of the family: income attribution: to whom does the income go? So far it has been going to only on taxpayer. That’s usually the case. But there are cases where it’s not that simple. 

· A.
Income from services (pp. 599–610). Married couples. The treatment of these has been superseded by statutes.

· Lucas case: attorney who sets up a contract between him and his wife so that they are both owners of any income, whatever way received by either of them. This was before we had joint returns. This was usually done to take advantage of progressivity, so that they both would be taxed at a lower rate and not pay as much at the highest bracket.  They’re not successful because Holmes says that they cannot contract out of taxes. Regardless of the validity of the contract. And the K was made in 1901  before 16th amendment was there so it was not to evade taxes. But Holmes says that we cannot tax the fruits differently from the tree, he earned the money so we tax him for all. 

· Poe v. Seaborn: same issue but not a contract. Just state law says everything is community property. In this case the ct said the income was never his and she can go ahead and report half of it. So, it sounds like the ct says that statutorily it’s ok but contractually (as in Lucas). This of course creates differences between enforcement of laws among the states. So many states became community property states! Particularly as income tax rates increased. So Congress finally intervenes to settle this mess in 1948. So now, married couples report it jointly. Even if they file separately, the income is joint. We treat it as single economic unit. But since community property states had for years been benefiting from the splitting of income, congress decided to extend that benefit to all states. So they could only be better off by getting married. Two people earning the same salary, would still pay the same as they would had they not been married, but if only one income earner, then the earner could reduce his tax rate by having the spouse start at bottom again. 

· By  1969 single men complained and congress created a new, reduced, singles rate! But that meant that if you had two income earners who were single and then got married, you would have a penalty, so to speak. That’s because you cannot have all these at the same time:

· Have progressive rate schedules

· Tax all couples with same total income equally and

· Have no tax consequences from marriage. 

· Once you make over 100,000$ the penalty kicks in, and mostly applies to when both are wage earners and both make about the same level of income, because of course, it all goes into the marginal rate since the spouse already used up his or her 10% rate for the first parts of income. Of course, this would encourage heterosexual couples not to get married! (if we talk about strictly economic terms).

· So when we talk about services and income from services, the couples issue has been superseded by statutes, but LUCAS remains viable for relationships other than marriages.

· B.
Transfers of property and income from property (pp. 618–626).

· If someone has given property, the income from that property is taxed to that recipient. BUT if donor has only given income and not the underlying property that generated it, then we’re back to Lucas or so, because the income was earned before it was given.

· Blair: the donor has an income interest in a trust fund that he gives to his children. He gives only a portion of it to his kids and that interest he assigns is co-terminous with his. The court says that is a gift of property and is taxed to recipient. All he has is an income interest and he gives away part of that interest. That’s respected for tax purposes and the donees are taxed. IF HE HAD HAD AN INTEREST IN THE CORPUS OF THE TRUST, it would be Horst, because he would have retained the underlying property interest.

· Horst: has a bond. He clips the interests coupons and give them to his sons, and the ct says it is a gift of income from property and it’s taxed to the donor! So what is the difference? That Horst has kept his full interest in the property but Blair has not kept that interest. Because the relevant question is whether the donor has retained an underlying property interest. He only gives away the interest on the bond. He is taxable. 

· One way of looking at it is vertical vs horizontal: Blair owns it for his life and he gives it away for exactly the same amount of time as his life and does not keep any reversionary interest. So it can be drawn as horizontal lines. Retained nothing underlying that property interest he gave away. Horst on the other hand, can be drawn as vertical slice, it is not co-terminous with donor’s life and he retained the underlying property. So it’s the same as if he got the money and then gave it away. 

· We’re only talking about gifts here. If it’s a sale, then the buyer has a basis and pays taxes on the income from interest.  And seller has an income in the sale but not taxable on the interest that the buyer gets.

· C.
Transfers incident to marriage and divorce (pp. 301–307; §1041).

· In Seaborn we were dealing with transfers related to marriage but now we’re talking about divorce. Case is Davis. Principle is that transfers in settlement of legal obligations are realization events. Mr. Davis transfers 1000 shares of Du Pont stock. He had purchased them earlier for well below FMV of the moment of transfer. Is there a tax consequence from that> Is this a taxable event? Ct says yes, but question becomes to whom and when. Davis says it’s as if they were co-owners and property is simply divided. Government says this is an arms length transaction where Davies is paying that much for Mrs. Davis to relinquish her marital rights. And the value of those rights relinquished are valued at whatever the FMV of those stocks is. So there is a realization event because he could have sold the shares and gotten the money. SO he is taxed as capital gains on his amount realized minus his adjusted basis. What about Mrs. Davis? Her Basis should be FMV because he was already taxed. She does not acquire the stock as a gift so she does not acquire the older basis. No tax consequences to her until she sells. Using replacement rule, we ask in lieu of what is this payment coming in? IN this case, it replaces stuff she was entitled to enjoy tax free. 

· So the Justice says we have to look at the underlying property right created by the statute and in Delaware there is no community property so the property is owned by Mr. Davis and he has a realization event upon transfer. If Davis had been a community property state like WA, the ct would have probably said that she already had a right to it and there would be no realization event. So because there was a discrepancy with respect to property among the states regarding spouses, congress intervened with 1041 that dictates that in a transfer of property among spouses pursuant to a  divorce there is gift treatment. So under 102 a there is no tax for recipient and he or she acquires the adjusted basis of the donor. And no one reports anything. 

· So, husband and wife have a 500K home with a basis of 300K and investment portfolio worth 500K with a basis of 400. If they divide the house for hubby and stocks to wife, her gain is only 100K when she sells it whereas the hbby gets a realization of 200,000 but since there is a 250,000 deductible gain bc it’s a home he gets it free and clear.

· 1041 and Davis deal with property settlements . 

· D. Alimony, child support, and property settlements (pp. 311–318; §71, §166, §215(a), (b)).

· Alimony is deductible to payer and includable to the payee. To be alimony it must be in cash or equivalent, must be in the divorce or separation agreement that is written, they can decide to elect out of alimony (but not to elect in!), must end when the payee dies, cannot be members of the same household. 

· Child support is not deductible and not reportable and if deadbeat owes you, you cannot deduct the debt under 166. 

· So there is an incentive to characterize as much as possible of their transfer of money as alimony than as child support. Collectively they save more taxes by structure it this way.

· There are front loading rules for alimony. If there are two huge amounts paid on the first two years and then lesser amounts, it is viewed as property transfer. The computations are based on amounts paid on the first three years. The maximum difference can only be 15,000 between years. Hypos:

· Year 1: 75K

· Year 2: 75K

· Year 3: 10K

· Excess payment on year 2= y2-(15,000+y3) so 75K- (15K+10k)= 50K so the excess was 50K which means that in year 2 the only amount considered alimony was 25K.

· So excess in year 1= y1-(15K+ Average [y3,y2 (actual alimony payment)]=

·                                75K-(15+17,500)= 42,500. So this was the excess in year one.

· Which means that after you add them, the payor has to include in his income 92,500  and payee has to deduct 92,500. That way, it is effectively putting everything back under 1041 as a transfer of property because they included it and should not have, or deducted and should not have. So we fill the holes. It is done in year three because we don’t know until then. Backloading is ok. You don’t run afoul of the statute if you pay less, less and then a lot. Also, if a  payor dies and does not pay year 3 or if there is a dramatic change in circumstances, there is no penalty because the law is set out not to be that harsh.

· Problems on page 314-315: 

· 1- nope, the alimony agreement needs to be in writing and pursuant to the divorce . No deduction to payor and no inclusion to payee. Not alimony. But it’s not a 1041 either bc it’s not property. He has a windfll, however, so he needs to report it as income. She cannot deduct.

· 2-  Y1:60K Y2: 60K and years 3 and 4: 5K. 

· So, year 2 excess= y2-(15K+y3) so 60K- 20= 40 excess

· Year 1 excess is = y1-(15k+average of y3 and year 2 actual alimony) so

· 60K- (15K+[5K+20k/2=12500])= 60-(15+12,500)=60-27,500=32,500

· so added to the excess in year 2 of 40K that gives us 72,500 excess total, which needs to be included for payor and deducted for payee.

· 2- You find alimony where you can find it. So the amount in life is alimony, the rest given after her death is not but it does not invalidate the remainder, same as if some portion is contingent on a child’s death, etc. 

· I missed the end of class here so get the problems on page 317 from Kate.

· See book for answers 

· 1-c-Ann paid Bob 10,000 for child support. Then borrows it back. Then dies.

· He claims that Bob has a deduction and Ann has income as debt discharge??? 166 B  applies and allows a deduction for a non-business that becomes worthless within the taxable year.

· D- Ann gave him a promissory note in exchange for the child support she owed him. Shortly after she dies. He can deduct the 10K. This is not a deadbeat dad like arguellez. 

· E-same as D but he sells the note to Thelma for 9000. So he has a loss of 1,000 because his basis was 10k and under 166D that is worthless. Thelma has a 9000 loss bc that was her basis.

· F- What are the implications of the ct’s  statement that the taxpayer had no basis in the debt (bc she was not out of pocket any amount of money!)? If ann owes him 10,000, if she pays him he has an exclusion for that amount.  But what if Bob sells or assigns that right to the 10K for 9000$? Acc. to Arguellez, he has an income of 9000 because his basis was zero. So instead of having a loss of 1000, it is seen as income of 9000 (check if income or exclusion). Thelma would be out of luck bc it’s not a promissory note.

· V.
Personal deductions

· A deduction is not an exclusion, but they are similar. You do include them in the return but as a subtraction from income. The value of a deduction is always the amount of the deduction X taxpayer’s marginal tax rate. 

· Deductions are clustered into three categories:

· Best measure of income: some of the deductions are necessary to arrive at the best definition of income. Hence why we have business deductions.

· Get a better measure of ability to pay: this takes into consideration casualty losses or huge medical costs.

· Implicit subsidies: home mortgages, retirement savings.

· 162 (a) is the basic provision: this allows deductions for business expenses. Necessary for the carrying on of the business (necessary as in loosely related to, not absolutely necessary). 

· The other pole is 262(a) that says that there is no deduction for personal living expenses. But there are some exceptions to this, that in spite f the fact that they are personal, they are allowed as deductions:

· Casualty losses

· State and local taxes

· Charitable contributions (statutorily defined)

· Home mortgage interest

· Extraordinary medical expenses.

· There’s also a group of deductions that fit between the two poles bc there’s a mixed motive OR it’s difficult to discern whether its motivated by business or personal reasons:

· Dependent care

· Commuting

· Travel expenses

· Then purely business deductible expenses and the only question is when are they deductible.

· Overarching limitations to personal deductions:

· There is a standard deduction and there are itemized deductions. These are mutually exclusive so you can only take one of the two. Itemized deductions are:

· State and local taxes

· Medical expenses,

· Charitable contributions

· Home mortgage interest

· Casualty losses 

· Some deductions above the line, going from gross income to agi . Then  once you get to agi you decide whether to itemize or take the standard deduction, so by definition those above the line deductions are combined with either itemization or standard deductions in order to get to TAXABLE INCOME. 

· Section 68 works this way: It phases down or out some deductions. It’s an implicit increase in the tax rate as your income goes higher than a certain limit, for 2007 it was 156,400 of AGI (regardless of whether you’re married or single!!! So this is the biggest part of the marriage penalty) So if a person makes an AGI of 356,400, she exceeded it by 200,000, so she starts losing 2% of income above threshold.

· So, 200,000 X 0.02=4000. So whatever deductions she had, she has to subtract the 4000 from it. So if her deductions added to 50K, she can only deduct 46K.  BUT in any event, she is always entitled to 20% of her deductions and can only lose 80% of the value of her deductions, so at the very least, regardless of how much money she makes, she can always deduct not the 50K but 10 K which is the 20% of her 50K deductions. 

· This section applies to all itemized deductions EXCEPT medical expenses and casualty loss. 

· Section 67: 2% floor on miscellaneous itemized deductions. You can only deduct this miscellaneous itemized stuff to the extent that  the aggregate exceeds 2% of AGI. Two significant ones:

· Unreimbursed executive expenses. Limited by 2%

·  floor

· Investment expenses (WSJ subscription!) But these miscellaneous deductions need to add up to at least 2% of the AGI. 

· A.
Introduction (pp. 22–24; 339–342; §67(a), (b), §68(a)–(d), §162(a), §262(a)). See above.

· B.
Casualty losses (pp. 342–345, 352–355; §165(c)(3), (h)(1)–(3); Reg. §1.165–7(a)(1), (2), (b)(1)). General provision regarding losses: 165 a: there shall be allowed as a deduction any loss sustained AND NOT compensated by insurance. 

·  165b Losses related to trade or business or investment losses (capital losses)

· 165c losses not related from trade or business if they arise from shipwreck, storm, fire, theft or other casualty. 

· So if you buy something like a car and it gains in value then you have income. BUT if you buy it and sell it for less, it’s not a deductible loss because it reflects the consumption! So decline in value of property being used personally, is not deductible because she actually consumed it. But if it’s a decline in value bc of a force majeur, act of God or whatever, then it’s not the same as personal enjoyment or consumption, it is a significant disenrichement. 

· For a loss to happen it has to be realized. 

· Not compensated by insurance or otherwise. Involuntary conversion when the compensation exceeds your basis. The property has been converted into cash.

· Amount deductible. Is the lesser of decline in FMV OR the adjusted basis (he called it basis). But then you subtract the 100 per event and are deductible to the extent that they reach 10% of the AGI. Meaning that you can only deduct the difference between the loss after 100 deductibles and the 10% of AGI, not the entire thing. Any amount recovered from insurance needs to be subtracted from loss amount. DON’T FORGET TO SUBTRACT THE DEDUCTIBLES OF 100 PER EACH EVENT B/C I DID NOT DO THAT IN THE EXERCISES< SO IT”S EASY TO FORGET. 

· Dyer: taxpayers are claiming a loss of a vase due to a cat’s neurosis first fit. Bc it was the first fit the tp claims it was a casualty loss. Insurance declines to pay under the circumstances. Ct says that under ejusdem generis we interpret items in a series as being similar to the more specifically listed terms, must be analogous to it. So, since statute says storm, fire, shipwreck, a first fit of a cat does not qualify in the same category as the others. 

· Apparently from the caselaw we garner that the events must be two things:

· Sudden

· Unforeseen (but medium unforeseen)

· Biltmore: guy in Baltimore who gets moved to South Carolina, wife drives back to Baltimore to live and when husband drives back to urge her to come back, he finds another man living there with the wife. Acc. to the neighbors, he had been there before when Biltmore had been on travel. He comes back that night and there is a party. He tells guests to leave but they do not. He breaks windows. Then he comes back, has an argument with the wife and she leaves. He burns the wife’s clothes. Then acc. to him he puts it out but the house burns down. Insurance does not pay it, and ct says he cannot deduct it either bc: he was grossly negligent, and because of public policy against domestic violence, the ct says they do not want to encourage people to settle disputes by fire.  

· Usually destruction of property resulting from crime is deductible. But termites and dry rot are not. Too slow moving and you have time to see it is happening.

VI.
Deductions for mixed business and personal expenses: how do we deal with that since we cannot separate the personal component from the business component and there is a great deal of incentive to find business to tie to purely personal conduct. 

· A.
Travel and entertainment (pp. 431–439, §274(a), (d), (e), (k)–(n)(2)(B)). The entertainment part is seen under a two step inquiry:

· 162 (a): is it an ordinary and necessary expense? If so, you go to:

· 274: even though you have O&N expense, we will look at other things. 

· Case of Rudolph: insurance convention where they take the wives. There is a business meeting but the rest is sightseeing in NY. So the question is whether he must include cost of trip and entertainment in his taxes as income or is he entitled to exclude? Under 132(d) as a working fringe, had he paid for it himself, would it be excludable as necessary and ordinary business expense? The Supreme Court dismisses the case. But some judges do talk about it in concurrence. They talk about the PRIMARY PURPOSE TEST: what is the primary purpose of the expenditure? If business, then deductible. We look at objective indicia surrounding the events. 

· B.
Business lunches (pp. 440–443).

· Also subject to the 50% cap even if reimbursed by firm.

· C.
Childcare expenses (pp. 456–459; §21(a)–(d)).

· Used to not be covered bc they were seen as personal expenses. Later on congress enacted §21 and now they are deductible up to a point. 3000 for one dependent and 6000 for two. 
· Dependent care expenses

· a.    Deductibility: Smith

· TP wants to use the “but for” test to deduct the costs of the nursemaid

· who takes care of the children while she goes to work.  The thinking is

· that but for her job, she would not have to hire a nursemaid, thus it is

· a business expense as it is in the name of generating income. 

· The court said although they may in some indirect and tenuous degree

· related to the circumtances of a profitable occupatoipn, are

· nevertheless personal in their nature, of a character applicable to

· human beings generally.

· “But for” having kids, you would not be in this situation.  And it is a

· family choice to have kids.  Therefore, it is personal.

· b.    Subsequent congressional action
· But now people with children are being treated disadvantageously, so

· Congress has to fix that.  Smith gave a disincentive for the 2nd worker

· in the household to enter the workforce.  We have mandatory joint-filing

· system, which gives disincentive for that person to enter the workforce.

· i.    §21 – CREATES A CREDIT (not a deduction)

· Dependent care credit:

· Multiply an applicable percentage by the “employment related expenses”.
· Employment related expenses:

·     Expenses for household services

·     Expenses for care of a qualifying individual

· HAS TO BE DONE IN ORDER TO ENABLE THE PERSON TO WORK

· Applicable percentage starts at 35% (everyone whose adjusted gross

· income is 15K or less, this is the percentage).  But this phases down to

· 20%. 
· Phase-down for every 2K or fraction thereof, you go down 1%.
· AGI = 15,001 34%
· AGI = 43,001 and above 20%
· Qualifying individual – 13 years or younger, or unable to take care of

· themselves and live with you.

· Limit – 3K for 1 qualifying individual; 6K for two or more.  Reduced by

· the aggregate amount excludable from gross income under §129 for the

· taxable year.  (TAX-CHOICE).  The DCAP cafeteria plan reduces the limit.

· Earned income limitations

· No overnight CAMPS!!!

· ii.    §129

· What is going to be more advantageous? the exclusion or the credit, or

· a combination of both? 

· The answer depends on the marginal rate of the taxpayer and the amount

· of AGI.

· If your marginal tax rate is less than the credit rate you would receive

· under §21, then forgo the DCAP.
· D.
Commuting and moving expenses (pp. 459–475; §162(a)(2), §217(a), (b)(1), (c); Reg. §1.162–2(e)). Commuting not deductible.

· Also, commuting is only deductible once you get to work and you have to drive to other places bc of the work. But not back and forth home and work. 

· Moving expenses only if move will take you farther than 50 miles upon accepting a new job. Moving expenses does not include meals while moving.

· If law firm in LA offers to pay for a round trip every week so you can come and see your family in summer, the first trip is excludable, but all the other ones are includable and you pay for it as income. 

· E.
Legal expenses (pp. 478–484) only if incurred in the maintenance of assets not to keep them from being taxed or taken away by ex-spouse.
· VII.
Deductions for the cost of earning income

· A.
Distinguishing current expenses from capital expenditures (pp. 491–498, 500–502; §174(a)(1), §263(a); Reg. §1.263(a)–1). Current expenses are immediately deductible. Things like salary and inventory costs, etc. Capital expenses must be capitalized: added to the basis of the asset. 

· Wasting asset: depreciation

· Non-wasting: cost recovered on disposition.

· The idea of capitalizing is to fairly match up the revenues and the expenses, so that it is more standard. Otherwise you’d be frontloading costs and backloading the revenues or income. 

· So we need to distinguish current expenses from capital expenses.

· Encyclopedia Britannica: they’re publishing a book and subcontract another writer to turn over a completed manuscript which EB will publish and sell over a period of years. They make progress payments. Posner says this is a capital expenditure because it will bring income in the future. So he says they cannot deduct the expenses paid to the writer because it needs to be capitalized!  

· So the basic question is whether this expense is going to the creation of a long lived asset: if so, it needs to be capitalized. If not, then you can expense it. This asset is not a capital asset, though. All property except inventory is capital asset. So in the case of the encyclopedia, the manuscript generates ordinary income and is considered inventory. Therefore it’s not a capital asset. But it is a long lived asset bc will be producing income for a while. It is a non wasting asset, so the cost may be recouped upon sale? 

· Idaho power case: Taxpayer is electric utility and needs a new generation plant. It buys trucks to build the plant. The truck is a capital expense so it will be deductible as depreciation over five years. But since the plant is a long life asset (the plant!) then it’s a case of capitalization within capitalization, so the truck is a cost of building the plant, so they’re made to add that cost to the cost of the plant and they depreciate the plant instead. EVERY COST, direct or indirect, involved in the creation of the long lived asset, needs to be depreciated with the asset. So, every year after the plant begins depreciating, you start depreciating one year’s worth of truck until you’re done at year five. 

· 263(A):

· All expenditures for the creation or acquisition of long lived asset needs to be capitalized

· R&D I not capitalized

· Marketing costs and PR costs not capitalized

· Lawyer

· Tort litigation: find out what he said

· Acquire a building or patent:

· Architect: ask

· If personal assets you would prefer capitalization bc you add it to your basis and when you sell you deduct the basis from the revenue. Personal assets are generally not capitalized bc no one sells appliances, etc.

· But homes you want to capitalize any thing you do to them, especially if you run over the 121 deduction. Ask him if you add remodel costs to your basis.

· Repairs vs. improvements: repairs can be deducted immediately as expenses and but improvements need to be capitalized. Incidental repairs that neither add to the life of the asset nor increase its value is a repair. If they arrest deterioration or add to the life of the property, are capital expenditures. (midland empire case where they were curing meats in the basement and oil started seeping in with the water so they needed to add a cement barrier. Ct said that was a repair. 

· Repairs of roofs if entire roof is a capital expenditure. But a significant portion of the roof is a repair!

· Manufacturers and sellers must capitalize inventory costs and recover at sale.

· B.
Repair and maintenance expenses (pp. 502–506; Reg. §1.162–4).

· See above.

· C.
Depreciation (pp. 544–551; §167(a), (c), §168(a)–(e) (skim), §197(a)–(c), (d)(1), §1016(a)(2); Reg. §1.167(a)–3).

· Depreciation is an allowance for the expected decline in value due to ordinary wear and tear or obsolescence of an asset used in business or to produce income. It is a cost recovery system for an asset basis. An accelerated way of doing it.

· Only used for wasting assets. 

· Non wasting assets get recuperated at final disposition.

·  Only for business purposes. Personal property is not depreciated bc that wear and tear is personal use, not used to produce income, even if you do end up making money off of it. But the primary use is for personal use,  not the production of income. 

· Life of asset: given by the code. Some are not by those are rare. Usually the life in the code is shorter than actual life.

· Applicable method of depreciation: how do we spread that over the useful life:

· Straightline: standard amount over the life. Amount/number of years= amount per year. This is the only one we need to do for test. There are others like the double declining method, etc. don’t worry about that. 

· Applicable convention: what do we do in the first year or last year since the asset is not being used the entire year. Two applicable conventions:

· mid year convention: tangible personal property. We deem it to have been placed in service in the middle of the year. Same thing at back end.

· Real estate is mid month. Usually easier to keep track and there are records. So you deem it in use in the middle of the month. 

· Additional details:

· Transfer of depreciable property. Real estate that had been depreciated for some years. The new owner gets to start again. So the new purchaser has another 39 years to depreciate and her basis is her cost. EXCEPT: gifted property you acquire the carryover basis bc the recipient steps into shoes of donor for both basis and depreciation schedule. EXCEPT: transfer at death: it’s fair market value, so the recipient starts depreciation clock. 

· Improvements: capitalize the expense.  Handled two ways:

· Depreciation starts at moment when placed in service

· Already had been depreciating for a while and then make improvements, the improvemensts are depreciated separately as a distrinct asset.

· Recapture rules: gain above what you have depreciated is ordinary income.

· INTERVIVOS GIFTS

· 2000    Sale price

· Gain

· Gain

· Gain

· Gain

· 1000 basis of original owner

· No Tax consequences

· No tax consequences

· No tax consequences

· 500 FMV at time of intervivos  gift

· Loss

· Loss

200 sale price

Excludable qualified employee discounts:

· It’s the toggle rule, on or off, if it discriminates against the lower paid. However, if it discriminates against the higher compensated employee, and gives more discount to lower paid employees, the language of the statute seems to indicate that it would be ok. 

Silvia buys painting for 6K pays her accountant with it when the FMV is 15,000 for payment of services. He sells it for 18K. Tax consequences?

· Silvia pays tax on gain of 9,000. This is a realization event for Silvia so she recognizes unless she can fall in a provision of non-recognition and that is not the case. Therefore, she realizes and recognizes the gain of 9000. 

· Robert pays tax on 18K because he does not “inherit” the basis. Does not step on shoes because this is not an intervivos transfer or gift. Therefore he gets 15,000 in rental ordinary income, and then 3000 in capital gain. His basis was 15K, so his amount realized was 18000, his basis is 15,000 and his  gain is 3000, so he pays taxes on the 18,000. 

· The FF miles problem. She sells her miles for $100 cash. FMV is 300. If she kept the miles it would be not taxable income. She has an event where she cashes it out so now the IRS knows how much it’s worth and it has to be reported at 100$ regardless of what the FMV was. If she had sold miles she EARNED ON MILES SHE PERSONALLY EARNED NOT FROM EMPLOYER, THEN WE WOULD ALLOCATE THE MONEY BECAUSE SHE DOES NOT REPORT AS INCOME THE MILES EARNED PERSONALLY. IT IS  CONSIDERED A DISCOUNT ON TRAVEL.

· PROBLEM OF the loss of fmv on a property that secures a loan:

· Lot cost 1 million and she finances it with a non-recourse loan. When FMV of land is 800,000, the outstanding loan is 850,000. Bank requests payback and she defaults and walks away.  Tax consequences? When someone walks away from a loan that is below the FMV the amount realized is the amount of the outstanding loan.

· Amount realized: 850,000

· Basis: 1,000,000

· Loss: 150,000 

· From bank’s perspective:

· Bank is owed 850,000 and it gets 800,000 so it has a loss of 50K.

· This is congruent with a loss of 200K in the property since it was worth 1 million and now it’s worth 800K, so the two losses add up to 200,000.

· Problem of the burned hotel:

· Purchased building for 1000000 and it was destroyed by fire. Land is not damaged. Adjusted basis is 400,000. Recovered 800,000. Gain 400,000. Cost of new building is 900,000 so she spent all her gain in the new building therefore no tax consequences. 

· Her new building burns down again:

· Her new basis was 900,000-400,000 (unrecognized gain from previous building)= 500,000 is the new basis. 

· She recovers 600,000 so her gain is 100,000 and she is taxable because she will not remodel again.

· Problem 14; Benaglia problem. Constructive receipt: if taxpayer is offered  cash or benefit, we have to assume he took the cash. UNLESS IT FALLS WITHIN The provisions of 125 the cafeteria plans and in that case it is not taxable. Also, the problem indicated that they were willing, in spite of the contract, to have him live outside of the premises and give him the income, so it was not mandatory that he live on the premises. FMV is what goes. For cafeteria plan the employer has to set it up formally through 125:

· Major ones are:

· Life insurance premiums up to 50K

· Health insurance premiums

· Un-reimbursed medical expenses

· Dependent care up to 5000. Dependent is spelled out in 129. 

·  Hello, there:

· We're up to section 422. What happens if I am given ISOs and I hold them for the two years after the grant, but then instead of holding on to the stock for one more year after exercise, I sell it immediately? Do I get taxed under ordinary income rates? Do I still get taxed at capital gains tax? or do I get taxed under section 83 as a tax on exercise?

· Second scenario I wait six months after exercise and it places me on a different tax year from the exercise year. What then?

· Nathalie
